Describe the end behaviors for each function.

flx)=x% —4x%2+ 7

h(t)=t° =43 +5t+ 2

f(x)=-x—-4x2+4

f(x) = (x=3)(x+5)(x-1)
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g(x)= x*—4x2—-x-5

p(x) = =x*+3x3 =5x+2
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C) f(x) = (x - 3)%(x + 5)(x - 1) D) f(x) = (x - 3)(5 - 6x)*
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In problems I-8, use the given graph of the finction /

l Is fincreasing on the wrerval (-8,-2)7 Yl',b

2| Isfmcreasing on the interval (2,10)? Neo

3 | List the mterval(s) on which fis increasing. Justify vour answer

4 | List the mterval(s) on which fis decreasing. Justify vour answer

'S | List the value(s) of x at which /has a local maximmm Justifv your answer
6 | List the value(s) of x at which /' has a local minimum. Justify your answer

| Find the x-intercepts,
8 | Find the y-iniercepts.
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